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Sentence Connector Questions For Bank Exams (LIC AAO, SBI
PO Pre, IBPS PO Pre, SBI Clerk Mains and IBPS Clerk Mains)

Sentence Connector Quiz 19

Direction: Select the phrase/connector (it must be at the start) from the given three
options which can be used to form a single sentence from the two sentences given
below, implying the same meaning as expressed in the statement sentences.

Questions:

1. The Five Year Planning has been done away with in India. The
Government of India has decided to go ahead with a 20-year

blueprint for development.

l. As the Government of India has decided to go ahead ........
Il. Since the Five Year Planning has been done away with ........
lll. That the Five Year Planning has been done away with ........

A.Only Il B. Only | C. Both I and IlI D. Both Land Il
E. All'l, Il'and 1

2. The Supreme Court has made it clear that only long term motor insurance
policies will be there in India. This will make all the insurance companies
issue policies for long term.

l. That the Supreme Court has made it clear that .......
Il. As the Supreme Court has made it clear ........
lll. The Supreme Court has made it clear yet ........

A. Both Iland Ill B. Both I and Il C. Only I D. Only Il
E.All'l, Iland 1l

3. Many students are now very concerned about the environment. It is a good
sign for the country as well as the society.
I. As many students are now very concerned about the environment ........
Il. That many students are now very concerned about the environment ........
lll. Though many students are now very concerned about the environment ........

A. Both Iland IlI B. Only I C.Both land lll D.Only |
E. Both I and Il



4. The Government is going to launch GPS based technology to track the
agriculture land in the country. Google is going to help the Government
develop technology for this.

l. Since the Government is going to launch ........
Il. While Google is going to help the Government develop technology ........

lll. Hardly has the Google been helping the government develop technology for
this when ........

A. Only 1l B. Both Il and Il C.Only | D. All'l, lland llI
E. None of the above

5. The Good Samaritan Law of the Government is not at all effective. This law
will not be put into practice by the police.
l. Since the Good Samaritan Law will not be put into practice by the police ........
Il. As the Good Samaritan Law of the government is not at all effective ........
lll. Scarcely the Good Samaritan Law of the Government is not at all effective

A. Both Il and llI B. Only Il C. Only!l D. Both land Il
E. None of the above

6. The Municipal Corporation has decided to start a waste treatment plant for
the solid waste. The government has set the treatment of solid waste as a
criterion for ranking cities.

l. Since the government has set ........
Il. The government having set the treatment ........
lll. The Municipal Corporation has decided to start a waste treatment plant for

A. Only Il B. Both Il and Il C. Both I and llI D. Only Il
E.All'l, Iland 1l

7. The government has launched the Make in India program on the occasion
of the Independence day this year. The program is not giving desired
response to the government from the private sector.

I. With the Make in India program not giving desired response ........
Il. No desired response can be elicited from the private sector ........
lll. The Make in India program launched by the government ........

A. Only Il B. Only Il C. Both land IlI D. Both Il and IlI
E. All'l, [l and 1l



The Supreme Court has ruled that the insurance companies should start
selling long-term insurance policies. All the insurance companies have not
complied with the order till date.

l. Though the Supreme Court has ruled that ........

Il. As the Supreme Court has ruled that the ........

lIl. Despite the Supreme Court having ruled that ........

A. Both Il and llI B. Only Il C.Both land D. Both I and llI
E. None of |, Il and lll

9.

The Indian cricket team has started winning matches outside the
subcontinent. The mentality of the players has changed a lot now.

l. With the mentality of the players having changed a lot now ........

Il. As the mentality of the players has changed a lot now ........

l1l. Although the mentality of the players has changed a lot now ........

A. Both Il and IlI B. Only lll C.Bothlandll D. Both I and llI
E. Alll, Iland IlI

10.

The unemployment problem is not getting focused properly. The
employment pattern in India is forcing people out of jobs.

l. Since the employment pattern in India is forcing ........

[I. With the unemployment problem not ........

lll. Nonetheless the employment pattern in India being forcible ........

A.Only Il B. Both Il and Il C. Both land llI D. Only 1l
E. None of |, Il and lll

Correct Answers:




Explanations:

1.

Statement | As the Government of India has decided to go ahead with a 20-year
blueprint for development, the Five Year Planning has been done away with in India.

It is correct since it connects both the statements meaningfully.

Statement Il is not correct since the reason of cancellation of the Five Year Planning is
the new plan of the government of going ahead with a 20-year blueprint and not the
other way around as has been implied in the given statement.

Statement lll is not correct since it does not connect the two sentences meaningfully.

So, option B is the correct choice.

Statement | That the Supreme Court has made it clear that only long term motor
insurance policies will be there in India will make all the insurance companies issue such
policies.

This is correct since both the sentences are connected meaningfully.

Statement Il As the Supreme Court has made it clear that only long term motor
insurance policies will be there in India, it will make all the insurance companies issue
policies for long term.

This is correct since the combined sentence makes a meaningful and contextually
correct statement.

Statement Ill is not correct because the sentence connector used is ‘yet’ which implies
in spite of something. It is not fit for the given context as here the insurance companies
are going to abide by the Supreme Court ruling and there is no space for neglecting the
same on the part of the insurance companies.

Hence, only | and Il make meaningful and contextually correct sentence when
combined.

This makes option B the correct choice among the given options.



Statement | As many students are now very concerned about the environment, it is a
good sign for the country as well as the society.

This is correct since both the statements are connected meaningfully.

Statement Il That many students are now very concerned about the environment is a
good sign for the country as well as the society.

This is also correct since both the statements are connected meaningfully.

Statement Il is not correct since the connector is used is not correct. ‘Though’ is used to
denote that despite of something it is taking place. In this context, it will not be
applicable.

Hence, only | and Il are correct as the combined statements in these two cases make
meaningful and contextually correct sentences.

So, option E is the right choice.

Statement | is not correct since the connector used here is ‘since” which is used in case
of cause and effect relationship between two statements. In the given statement, there
is no such relationship between the two sentences as one is about an initiative of the
government and the other is about the same subject with more details only.

Statement Il is not correct because ‘while’ is used to denote that something is taking
place while something else is also happening. In the given statement, ‘while” will not fit
in the context as the sentences are mere descriptions regarding the same subject and
there is no reference to any activity being carried out simultaneously with another.

Statement lll is also incorrect since with the given beginning, it is not possible to
connect the two sentences. ‘Hardly when’ is used to denote barely or
unlikely. It does not fit in the given context and will not make meaningful statement
when combined.

So, none of the given choices will make the combined statement meaningful as well as
contextually correct.

This makes option E the right choice among the given options.



Statement | is incorrect since the reason that the Police are not going to adopt a law will
not make it ineffective. The Police have to take cognizance of the law and it is not their
prerogative to judge any law passed by the Parliament. These two statements given
cannot share the cause and effect relationship required for connecting them with the
given connector ‘since’.

Statement Il is not correct since there should be cause and effect relationship between
the given statements in order to connect them with the given connector ‘as’. In these
sentences, no such relationship is there because a law cannot be ineffective if the Police
are not practicing it but they have to abide by it. Had it been the case that the law
cannot be implemented, it would have been ineffective as stated in the sentences but
so is not the case in this context.

Statement lll is also incorrect because it is completely out of context to even think
about connecting the given two statements with the connector ‘scarcely’ which actually
implies barely. It has no bearing on the given two statements as far as connecting them
is concerned.

Hence, none of the given choices will be correct in the given context.

This makes option E the correct choice among the given options.

Statement | Since the government has set the treatment of solid waste as a criterion for
ranking cities, the Municipal Corporation has decided to start a waste treatment plant
for the solid waste.

This is correct as both the sentences are connected in a meaningful manner.

Statement Il The government having set the treatment of solid waste as a criterion for
ranking cities, the Municipal Corporation has decided to start a waste treatment plant
for the solid waste.

This is correct as both the sentences are connected in a meaningful manner.

Statement Ill The Municipal Corporation has decided to start a waste treatment plant
for the solid waste as the government has set the treatment of solid waste as a criterion
for ranking cities.

It is also correct since both the sentences are connected in a meaningful manner

Hence, option E is the correct choice among the given options.



Statement | is not correct since with that beginning it is not possible to connect the two
sentences in the meaningful manner

Statement Il is not correct since no meaningful statement can be formed with the given
beginning. It is not possible to combine the given two sentences without altering their
meanings if we begin with the given phrase.

Statement lll The Make in India program launched by the government on the occasion
of the Independence Day this year is not giving desired response to the government
from the private sector.

It also connects two sentences in a meaningful manner and that is why it is correct.

This makes option A the right choice among the given options.

Statement | Though the Supreme Court has ruled that the insurance companies should
start selling long-term insurance policies, all the insurance companies have not complied
with the order till date.

This is correct since both the statements are connected meaningfully.

Statement Il Here we are talking about two sentences that denote contrasting stands. It
is expected that after the SC ruling, the insurance companies will comply with the order
of the apex court but that has not taken place till date. As is mainly used to combine two
sentences which denote the cause and effect relationship. This is hence not correct.
Statement Il Despite the Supreme Court having ruled that the insurance companies
should start selling long-term insurance policies, all the insurance companies have not
complied with the order till date.

This is also correct as a combined statement.

So, option D is the right choice.



10.

Statement | With the mentality of the players having changed a lot now, the Indian
cricket team has started winning matches outside the subcontinent.

This is correct since both the sentences are connected meaningfully.

Statement Il As the mentality of the players has changed a lot now, the Indian cricket
team has started winning matches outside the subcontinent.

This is also correct since with the given beginning, a sentence can be combined that will
be meaningful and also contextually correct without altering the meaning of the
separate sentences.

Statement Il With although, it is not possible to combine statements which are actually
related by the cause and effect relationship. Although is mainly used to combine two
contrasting statements. Hence, this should not be considered as correct.

Hence, option Cis the correct choice.

Statement |1t cannot be considered as true since the given statements are not
connected by the relationship of cause and effect between them. Since is used for that
purpose only and that is why, this cannot be considered as a correct combination of two
sentences.

Statement Il It is also not the correct choice since with this beginning; the statements
cannot be combined to form a single sentence without any change in the meaning of

the separate sentences.

Statement Il It is not even relevant in this context since it is used to connect contrasting
sentences and the given sentences are certainly not contrasting to each other.

This makes option E the correct choice among the given options.
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